<?xml version="1.0" encoding="UTF-8"?>
<RelativeLayout xmlIns:android="http://schemas.android.com/apk/res/android
android:orientation ="vertical”
android: layout_width ="fill_parent”
android: layout_height ="fill_parent” >
<TextView
android:id="@+id/titolo™
android: layout_width ="fill_parent”
android: layout_height ="wrap_content"
android:text="""/>

<EditText
android:id="@+id/n1"
android: layout_width ="fill_parent”
android: layout_height ="wrap_content"
android: layout_below ="@id/titolo"”
android:text="0"/>

<EditText
android:id="@+id/n2"
android: layout_width ="fill_parent”
android: layout_height ="wrap_content™
android: layout_below = @id/nlf
android:text="0"/>

<Button
android:id="@+id/somma"
android: layout_width ="wrap_content™
android: layout_height ="wrap_content™
android: layout_below ="@id/n2"
android:text="+"/>

<Button
android:id="@+id/sottrazione"
android: layout_width ="wrap_content™
android: layout_height ="wrap_content"
android: layout_below ="@id/n2"
android: layout_toRightOf ="@id/somma"
android:text="-"/>

<Button
android:id="@+id/moltiplicazione”
android: layout_width ="wrap_content™
android: layout_height ="wrap_content"
android: layout_below =
android: layout_toRightOf ="@id/sottrazione"
android:text="*"/>

<Button
android:id="@+id/divisione"”
android: layout_width ="wrap_content™
android: layout_height ="wrap_content™
android: layout_below =
android: layout_toRightOf ="@id/moltiplicazione”
android:text="/"/>

<TextView
android:id="@+id/risultato”
android: layout_width ="fill_parent”
android: layout_height ="wrap_content"
android: layout_below ="@id/divisione”
android:text="""/>

<TextView
android:id="@+id/messaggio"”
android: layout_width ="fill_parent”

android: layout_height ="wrap_content
android: layout_below ="@id/risultato”
android:text=""/>

</RelativelLayout>




